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ko = Ko = Tt QA CLY Yac

o= 4 = I @ACL Yac — QAL Xac
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Che =
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S.  Coelfictents of Cherleris+ic Eﬁungrﬂo—i««
= Typ Tyy = Try
b= T cy + Tyylos
C = Iuy kg + CuCo + Tyy ko — c;{; - Txy Kalo
d = | e + ke Cy — Kyp Cho
e = kKolada

G. Solve for toots of ChercteristHc cguetion

ast + bs>+ cs* +ds + e =0
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7. Bwxlugte Roo¥rs (Positive Root Resolls va Fla %-er)
Tf Real Pert of S, Sey5z, 008y is 2 O
Then R(EY = |
e )+ R(=1) = 0, Then Print Ko ond kg
Ke= kKe- 2O |
J= T+ |

, Obherotse R(3) =~

I Kg >0 The~n GoTo Y
B. Ko = kg ~ A

IF kg > O Then Go To Y




